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= R 4 B | TimshoniEE ADKES X 4 TIwALDKE | B ADKES X 4 Bz | LEArSOES ADKES R 4 Lighonts | & ADKES
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZE#BZ 3 -~ — — -
ZzhnLst 1.00 | 0.00 ~ 546 6818 | TS | 000 ~ 546 1.78 9.52 ZzhnLst 1.00 | 5.00 ~ 6.00 6818 | =nLS | 6.00 ~ 6.00)1.78 9.562
2 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZEHBZ 3 -~ — — -
ZzhnLst 1001000 ~ 565 70.54 | TS | 000 ~ 565|187 10.02 ZzhnLst 1.00 | 5.00 ~ 6.50 70.564 | RS | 6.00 ~ 650 1.87 10.02
P 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZE#BZ 3 -~ — — -
ZzhnLst 1.00 1000 ~ 565 70.54 | =S | 000 ~ 565|187 10.02 ZzhnLst 1.00 | 5.00 ~ 6.50 70.564 | RS | 6.00 ~ 650 1.87 10.02
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ZzhnLst 1.00 1000 ~ 6.60 83.20 | =hs | 000 ~ 660\ 1.86 9.93 ZzhnLst 1.00 |1 5.00 ~ 810 83.20 | =hs | 5.00 ~ 810| 1.86 9.93
¢ 100kN/mM#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZEBZ3 -~ — — -
ZzhnLst 1.00 1000 ~ 6.60 83.20 | =hs | 000 ~ 660\ 1.86 9.93 ZzhnLst 1.00 |1 5.00 ~ 810 83.20 | #hs | 5.00 ~ 810| 1.86 9.93
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znLst 1.00 | 0.00 ~ 583 72.94 | ThUS | 000 ~ 583|192 10.27 zhnLst 1.00 | 5.00 ~ 7.00 7294 | =hLSN | 600 ~ 7.00) 1.92 10.27
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100kN/ Mm% % % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
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100kN/m#E#8Z % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
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